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Fig.1. The distributions of X(1)
 for Model 1 (m1=0 and m2=1).
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Fig.2. The distribution of X(1)
 for Model 2 (m1=0 and m2=1).



m4=5.0

0

0.2

0.4

0.6

0.8

1

0 0.5 1 1.5 2
strike price

cop

B-S

m3=0.3

m3=0.6

m3=0.9

m4=4.0

0

0.2

0.4

0.6

0.8

1

0 0.5 1 1.5 2
strile price

cop

B-S

m3=0.3

m3=0.6

m3=0.9

m4=4.0

0

0.2

0.4

0.6

0.8

1

0 0.5 1 1.5 2
strike price

cop

B-S

m3=-0.3

m3=-0.6

m3=-0.9

m4=5.0

0

0.2

0.4

0.6

0.8

1

0 0.5 1 1.5 2

strike price

cop

B-S

m3=-0.3

m3=-0.6

m3=-0.9

Fig.3. The European call option prices:
Black-Sholes Model vs Model 1+MEMM.
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Fig.4. The European call option prices:
Black-Scholes Model vs Model 2+MEMM.


